D a+4d<b+4
® 3a-1<3p-1

®B) —3a < -3b

@ -54+a<-5+0b
1 1
—a< b

@ FA<



@ 4a < 4b

D aspos
® 50~ 3

@ 2a—-1<2b-1
@ —20+3<_2b+3



3. x<4 2l -2x+1 9 g HLE?

O -2x+1<-7 @ -2x+1>-T7 @ -2x+1<7

@ -2x+1>7 ® —241<7



4. x<249 4, -3x-5 9 gto] HYE +oloiz=t.
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5. =T LARTAHE BT Hofet

® 3>5-2x @ x-1<x
® 4x-3<5 @ -x+4>7

® 2x-(x+1)<3+x



6. the F UARSHo] ol AL

® -x-5>-3x-5 @ —-2x<3x-8
® -5x+1>1-3x @ 3(x—4)>-6+3x

B —2x2 +4x > x — 2x2



7. He T LATSAA ALY

O x+42-1 @ 2x+4=6
® x-5x<3-4x @ 2> x—x2

® 64+x-(1+3x)



1
®y=§x—4 @ 3x+2<x-5

®4x+2:x_5 @x2+22_3x_4

1 1
@ §X—1>—5+§x
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